



Article Quality of Life and Anxiety in Age Macular Degeneration Patients: A Cross-Sectional Study

Daniel Caballe-Fontanet ¹, Cristina Alvarez-Peregrina ^{1,*}, Neus Busquet-Duran ², Eduard Pedemonte-Sarrias ^{2,3}, Cristina Andreu-Vázquez ¹ and Miguel Ángel Sánchez-Tena ^{4,5}

- ¹ Faculty of Biomedical and Health Sciences, Universidad Europea de Madrid, 28670 Madrid, Spain; opticavisiocaballe@gmail.com (D.C.-F.); cristina.andreu@universidadeuropea.es (C.A.-V.)
- ² Department of Ophthalmology, Althaia Xarxa Assistencial Universitària de Manresa, 08243 Manresa, Spain; nbusquet@althaia.cat (N.B.-D.); epedemonte@althaia.cat or eduard.pedemonte@umedicina.cat (E.P.-S.)
- ³ Faculty of Medicine, University of Vic—Central University of Catalonia (UVic—UCC), 08500 Vic, Spain
- ⁴ ISEC LISBOA—Instituto Superior de Educação e Ciências, 1750-179 Lisboa, Portugal; masancheztena@ucm.es
- ⁵ Department of Optometry and Vision, Faculty of Optics and Optometry, Universidad Complutense de Madrid, 28037 Madrid, Spain
- * Correspondence: cristina.alvarez@universidadeuropea.es

Abstract: (1) Background: Chronic diseases affect patients' quality of life. Age Macular Degeneration (AMD) is one of the most prevalent chronic ocular diseases. The study aims to measure the anxiety and quality of life related to vision in patients with AMD, as well as the relationship with other visual and demographic parameters. (2) Methods: Prospective cross-sectional study in AMD patients. Visual acuity (VA), contrast sensitivity (CS), line difference in the Colenbrander test, and the degree of pathology were measured. Other variables such as gender, age, and time from the diagnosis were also collected. Anxiety was measured with the Spielberger State-Trait Anxiety Inventory (STAI) and quality of life with the National Eye Institute Visual Function Questionnaire (NEI VFQ-25). The Strengthening the Reporting of Observational Studies in Epidemiology (STROBE) checklist was followed. (3) Results: Patients with higher punctuation in Trait STAI showed lower punctuation in NEI VFQ-25 questionnaire (Spearman coefficient -0.415; p = 0.001). The variables VA, CS, and age were correlated to the quality of life. The relationship between trait anxiety and subscales of NEI VFQ-25 was significant for all subscales (p < 0.05), except for social functioning, peripheral vision, general vision, ocular pain, and driving. (4) Conclusions: AMD patients with higher levels of anxiety show a decrease in their quality of life. The quality of life of AMD patients depends on their VA and CS.

Keywords: age-related macular degeneration; STAI; NEI VFQ-25; anxiety; quality of life; AMD

1. Introduction

Age-related Macular Degeneration (AMD) is the leading cause of blindness in the USA and the third cause in the world. The National Eye Institute predicts that 5.4 million people will suffer AMD in the USA by 2050 [1]. As life expectancy increases, the incidence of AMD grows, making AMD an important challenge for Public Health Systems [2].

In a global meta-analysis on almost 130,000 subjects, AMD prevalence was 9% in people between 45- and 85-years old [3]. Prevalence increases with age as the Spanish Eyes Epidemiological Study shows. This study was carried out in different places across Spain, and the authors found an AMD prevalence of 1% in people aged between 65 and 74, and 8% older than 80 years old [4]. A similar prevalence has been found in other places, with a higher prevalence of AMD in Europeans than in Asians and Africans, according to the systematic review and meta-analysis made by Wong et al. in 2014 [5].

AMD has been classified as dry or wet, according to the pathological and clinical signs. The dry or atrophy AMD has a slow development and leads to the degeneration of



Citation: Caballe-Fontanet, D.; Alvarez-Peregrina, C.; Busquet-Duran, N.; Pedemonte-Sarrias, E.; Andreu-Vázquez, C.; Sánchez-Tena, M.Á. Quality of Life and Anxiety in Age Macular Degeneration Patients: A Cross-Sectional Study. *Int. J. Environ. Res. Public Health* **2022**, *19*, 820. https://doi.org/10.3390/ ijerph19020820

Academic Editor: Paul B. Tchounwou

Received: 31 October 2021 Accepted: 7 January 2022 Published: 12 January 2022

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). the retinal pigment epithelium and photoreceptors. Wet or exudative AMD has a quick progression and usually results in a sudden loss of central vision [6].

AMD decreases the patient's quality of life, similar to what happens in other severe systematic diseases such as cancer, ischemic coronary disease, or ictus. AMD patients have difficulty in making their daily routines, feel they depend on others, suffer depressions, and have a high risk of falling [7].

In a study carried out in Germany in more than 7000 AMD patients aged between 40 and 90, the prevalence of depression and anxiety was related to AMD. Depression and anxiety were more frequently found in AMD patients [8]. In a systematic review carried out by Dawson et al. in 2012, symptoms of depression were more prevalent among AMD populations than anxiety symptoms [9].

According to the World Health Organization, health is a state of complete physical, mental, and social well-being, and not merely the absence of disease or infirmity. Traditionally in ophthalmology, the success of treatment has been measured by morbidity, visual acuity (VA), or the visual field [7]. The development of medicine has resulted in a lot of patients with chronic diseases who live longer, so the quality of life has become an important aspect to study [10,11]. In Optometry and Ophthalmology, some questionnaires to evaluate the quality of life related to vision have been validated in the last years. All of them are self-reported questionnaires that include questions about specific daily activities. Patients were asked to rate the level of difficulty that they experienced, while performing the activity described. Notably, only three of these instruments have been validated on low vision patients, and just two of them have been validated on a wide range of pathologies. One is the VCMI, a 10-item vision-related quality-of-life questionnaire, and the other is the National Eye Institute visual function questionnaire (NEI VFQ), and the shorter version NEI-VFQ-25 [12,13].

Indeed, one of the most extensive questionnaires to measure the quality of life related to vision is the NEI VFQ-25 [14]. It has been translated into multiple languages, such as Spanish [15]. On the other side, the State-Trait Anxiety Inventory (STAI) is one of the most frequently used psychometric tests to value anxiety [16]. It is a validated 20-item self-report assessment device that includes separate measures of state and trait anxiety. The first one is a transient emotional condition, and the second one is an anxious propensity, a latent state. It has also a Spanish adaptation, which was developed in 2011 [17].

The relationship between anxiety, quality of life, and AMD has not been widely studied, so this research aims to correlate results from STAI and NEI-VFQ-25 in patients with AMD.

2. Materials and Methods

A prospective cross-sectional study with convenience sampling was carried out. Patients were recruited from Òptica Visió and Althaia Hospital, both in Manresa (Spain). All patients diagnosed with dry AMD and without other ocular pathologies were asked to participate in the study.

The study was conducted according to the guidelines of the Declaration of Helsinki and was approved by the Ethics Committee of "Fundació Unió Catalana Hospitals" (protocol code CEI 18/86 and date of approval 27th November 2018).

The following demographic variables were collected: gender, age, and years from the AMD diagnosed.

Visual variables were also analyzed: VA with the Early Treatment Diabetic Retinopathy Study test (ETDRS) [18], Contrast Sensitivity (CS) using the Pelli–Robson test, line difference in high and low contrast test of Colenbrander (dITC), and structure (STR) using a 3D OCT Maestro (Topcon, Tokyo, Japan).

All patients completed both the STAI and VFQ-25 questionnaires.

Statistical analysis was conducted using Stata IC v.14 (StataCorp LLC). Qualitative variables were expressed as absolute (n) and relative (%) frequencies. The Shapiro–Wilk test was used to evaluate the parametric behavior of the quantitative variables. Mean values

 \pm standard deviation were given for normal distributions; for non-normal distributions, the data were reported as medians with interquartile range. Pearson's or Spearman's correlation analyses were used for correlating anxiety and quality of life. For the NEI VFQ-25 subscales that showed a significant correlation to STAI, multiple linear regressions were performed to evaluate the relationship between the quality of life's subscale and the following variables: gender, age, years from when the AMD was diagnosed, VA, and CS. For each linear regression, the normality of the residuals was tested, and robust regression models were used in cases of violation of the normality. To assess statistical significance, a cut-off point of *p* < 0.05 was considered.

3. Results

The number of enrolled patients in the study was 80. In all, 70% of the subjects were females, and 30% were males. The median value of age was 83.50 years old (IQR 79.00–81.00), and the median value of the time from the diagnosis was 5.00 years (IQR 1.00–8.00). Regarding the severity of the AMD, 15.00% of the subjects were in an early stage, 32.50% in an intermediate state, and 52.50% suffer from an advanced AMD.

The mean values of VA in the subjects were 0.32 \pm 0.30 on a LogMAR scale, and the mean values of CS was 1.28 \pm 0.30.

Table 1 shows a descriptive analysis of the values found in the variables of STAI and in the quality-of-life questionnaire that did not follow a normal distribution.

	Median	Q1	Q3
Trait Anxiety	20.00	16.50	24.50
State Anxiety	21.50	20.00	23.50
Quality of Life	78.21	61.19	88.13
	Subscales of c	uality of life	
General Vision	40.00	20.00	40.00
Ocular pain	100.00	87.50	100.00
Social function	87.50	62.50	100.00
Mental Health	78.13	56.25	93.75
Role Difficulties	75.00	50.00	100.00
Dependency	100.00	75.00	100.00
Driving	91.67	66.67	95.83
Peripheral Vision	100.00	100.00	100.00

Table 1. Median values of STAI—quality of life in general and in the different subscales in patients suffering.

The VFQ-25 subscales of near and distance activities followed a normal distribution with mean values of 64.22 ± 26.02 and 60.21 ± 27.20 , respectively.

Table 2 shows the correlation between the trait and state anxiety and quality of life in the subject studied. There is no correlation between state anxiety and quality of life. A significant correlation was also found for the trait anxiety and the following subscales: Near activities, distance activities, mental health, role difficulties, dependency, and color vision.

Table 3 shows, through a multiple linear regression model, how the quality of life is correlated to trait anxiety, age, distance VA, and CS.

	State Ar	nxiety	Trait A	nxiety
	Correlation *	<i>p</i> -Value	Correlation *	<i>p</i> -Value
Quality of Life	-0.077	1.000	-0.415	0.001
		Subscales		
General Vision	-0.002	1.000	-0.269	0.160
Ocular pain	-0.005	1.000	-0.147	1.000
Near Activities	-0.059	1.000	-0.319	0.040
Distance Activities	0.001	1.000	-0.327	0.031
Social function	-0.035	1.000	-0.212	0.586
Mental Health	-0.099	1.000	-0.424	0.001
Role Difficulties	-0.065	1.000	-0.428	0.001
Dependency	-0.172	1.000	-0.373	0.007
Driving	0.044	1.000	-0.246	1.000
Color Vision	-0.175	1.000	-0.356	0.013
Peripheral Vision	-0.054	1.000	-0.192	0.875

Table 2. Correlation between state and trait anxiety and the VFQ-25 quality-of-life questionnaire and its subscales.

* Spearman correlation coefficient (Rho). Values in bold means statistical significance.

Table 3. Multiple linear regression model that correlates trait anxiety with quality of life.

VFQ-25	Coefficient	SE	t	p > t	(95%	o CI)
Trait Anxiety	-0.64	0.22	-2.93	0.005	-1.07	-0.20
Age	0.61	0.17	3.48	0.001	0.26	0.95
Gender (female)	1.53	2.62	0.59	0.560	-3.69	6.75
AMD severity						
intermediate (vs. early state)	-3.56	3.68	-0.97	0.337	-10.91	3.79
Advance (vs. early stage)	-7.13	3.72	-1.92	0.059	-14.55	0.28
Years from diagnosis	0.07	0.21	0.35	0.727	-0.35	0.50
Distance visual acuity	33.34	4.71	7.08	< 0.001	23.95	42.73
Contrast Sensitivity	13.89	4.88	2.85	0.006	4.15	23.64

SE: Spherical Equivalent; AMD: Age Macular Degeneration; CI: Confidence Interval. Values in bold means statistical significance.

Tables 4–9 show the same data for the subscales of the NEI VFQ-25 questionnaire that have shown a correlation with any of the parameters evaluated. It shows a correlation of all the subscales to VA, and in most of them in CS, age, and years from the diagnosis.

Table 4. Multiple linear regression model that correlates trait anxiety with the subscale Near Vision from the quality-of-life questionnaire NEI-VFQ-25.

Near Activities	Coefficient	SE	t	p > t	(95%	G CI)
Trait Anxiety	-0.36	0.32	-1.12	0.267	-1.00	0.28
Age	0.48	0.26	1.87	0.065	-0.03	0.99
Gender (female)	2.87	3.85	0.74	0.459	-4.82	10.56
AMD severity						
intermediate (vs. early state)	-11.75	5.43	-2.17	0.034	-22.58	-0.93
Advance (vs. early stage)	-21.29	5.47	-3.89	<0.001	-32.21	-10.37
Years from diagnosis	-0.26	0.31	-0.82	0.415	-0.88	0.37
Distance visual acuity	54.20	6.93	7.82	0.000	40.36	68.03
Contrast Sensitivity	9.68	7.19	1.35	0.183	-4.67	24.04

SE: Spherical Equivalent; AMD: Age Macular Degeneration; CI: Confidence Interval. Values in bold means statistical significance.

Distance Activities	Coefficient	SE	t	p > t	(95%	OCI)
Trait Anxiety	-0.23	0.39	-0.58	0.563	-1.00	0.55
Age	0.47	0.31	1.50	0.138	-0.15	1.09
Gender (female)	-2.41	4.67	-0.52	0.607	-11.73	6.91
AMD severity						
intermediate (vs. early state)	-5.66	6.58	-0.86	0.392	-18.78	7.46
Advance (vs. early stage)	-12.38	6.63	-1.87	0.066	-25.61	0.85
Years from diagnosis	-0.17	0.38	-0.44	0.661	-0.93	0.59
Distance visual acuity	58.02	8.40	6.91	<0.001	41.26	74.78
Contrast Sensitivity	11.26	8.72	1.29	0.201	-6.13	28.65

Table 5. Multiple linear regression model that correlates trait anxiety with the subscale Distance Vision from the quality-of-life questionnaire NEI-VFQ-25.

SE: Spherical Equivalent; AMD: Age Macular Degeneration; CI: Confidence Interval. Values in bold means statistical significance.

Table 6. Multiple linear regression model that correlates trait anxiety with the subscale Mental Health from the quality-of-life questionnaire NEI-VFQ-25.

Mental Health	Coefficient	SE	t	p > t	(95%	OCI)
Trait Anxiety	-1.15	0.41	-2.77	0.007	-1.97	-0.32
Age	0.90	0.33	2.72	0.008	0.24	1.56
Gender (female)	1.32	4.97	0.27	0.791	-8.60	11.24
AMD severity						
intermediate (vs. early state)	-4.95	7.00	-0.71	0.482	-18.91	9.01
Advance (vs. early stage)	-9.57	7.06	-1.36	0.180	-23.65	4.51
Years from diagnosis	0.48	0.41	1.17	0.245	-0.33	1.28
Distance visual acuity	37.44	8.94	4.19	<0.001	19.60	55.28
Contrast Sensitivity	27.64	9.28	2.98	0.004	9.13	46.14

SE: Spherical Equivalent; AMD: Age Macular Degeneration; CI: Confidence Interval. Values in bold means statistical significance.

Table 7. Multiple linear regression model that correlates trait anxiety with the subscale Role Difficulties from the quality-of-life questionnaire NEI-VFQ-25.

Role Difficulties	Coefficient	SE	t	p > t	(95%	o CI)
Trait Anxiety	-0.89	0.43	-2.09	0.041	-1.75	-0.04
Age	0.29	0.34	0.84	0.401	-0.39	0.97
Gender (female)	-2.18	5.15	-0.42	0.673	-12.45	8.08
AMD severity						
intermediate (vs. early state)	-14.62	7.24	-2.02	0.047	-29.07	-0.17
Advance (vs. early stage)	-17.19	7.31	-2.35	0.021	-31.77	-2.61
Years from diagnosis	-0.42	0.42	-1.00	0.319	-1.26	0.42
Distance visual acuity	54.47	9.26	5.88	<0.001	36.00	72.94
Contrast Sensitivity	13.33	9.60	1.39	0.170	-5.83	32.49

SE: Spherical Equivalent; AMD: Age Macular Degeneration; CI: Confidence Interval. Values in bold means statistical significance.

So, Table 4 shows that the subscale "near activities" from the quality-of-life questionnaire is not correlated to trait anxiety; although, there is a correlation between "near activities" and the AMD severity and distance VA.

Table 5 presents how the subscale "distance activities" from the quality-of-life questionnaire is also not related to trait anxiety, finding a correlation between "distance activities" and distance VA.

In Table 6, the correlation between the subscale "mental health" from the NEI-VFQ-25 questionnaire and trait anxiety is shown. The table shows the correlations among "mental health" and age, distance VA, and CS.

Dependency	Coefficient	SE	t	p > t	(95%	, CI)
Trait Anxiety	-0.55	0.46	-1.21	0.232	-1.46	0.36
Age	1.21	0.37	3.31	0.001	0.48	1.94
Gender (female)	6.99	5.50	1.27	0.208	-3.99	17.96
AMD severity						
intermediate (vs. early state)	-2.11	7.75	-0.27	0.786	-17.56	13.34
Advance (vs. early stage)	-8.38	7.81	-1.07	0.287	-23.97	7.20
Years from diagnosis	0.14	0.45	0.32	0.751	-0.75	1.04
Distance visual acuity	36.60	9.90	3.70	< 0.001	16.86	56.35
Contrast Sensitivity	30.79	10.27	3.00	0.004	10.30	51.28

Table 8. Multiple linear regression model that correlates trait anxiety with the subscale Role Difficulties from the quality-of-life questionnaire NEI-VFQ-25.

SE: Spherical Equivalent; AMD: Age Macular Degeneration; CI: Confidence Interval. Values in bold means statistical significance.

Table 9. Robust multiple linear regression model that correlates trait anxiety with the subscale Color vision from the quality-of-life questionnaire NEI-VFQ-25.

Color vision	Coefficient	Robust SE	$t \qquad p > t$		(95% CI)	
Trait Anxiety	-1.33	0.27	-4.88	<0.001	-1.88	-0.79
Age	0.60	0.30	2.02	0.048	0.01	1.19
Gender (female)	3.75	3.74	1.00	0.321	-3.72	11.22
AMD severity						
intermediate (vs. early state)	3.65	3.45	1.06	0.295	-3.24	10.53
Advance (vs. early stage)	0.53	4.05	0.13	0.896	-7.56	8.62
Years from diagnosis	0.57	0.34	1.64	0.106	-0.12	1.27
Distance visual acuity	20.81	7.76	2.68	0.009	5.33	36.85
Contrast Sensitivity	16.92	7.98	2.12	0.038	0.99	32.85

SE: Spherical Equivalent; AMD: Age Macular Degeneration; CI: Confidence Interval. Values in bold means statistical significance.

Table 7 shows the relationship between the subscale "role difficulties" from the NEI-VFQ-25 questionnaire and trait anxiety. There is a correlation among "role difficulties" and trait anxiety, AMD severity, and distance VA.

Table 8 shows that the subscale "dependency" from the quality-of-life questionnaire is not correlated to trait anxiety; although, there is a correlation between "dependency" and age, distance VA, and CS.

Finally, Table 9 shows the correlation between the subscale "color vision" from the quality-of-life questionnaire and trait anxiety. It shows also the correlation between "color vision" and age, distance VA, and CS.

4. Discussion

This study shows how AMD patients suffer from anxiety and have a low quality of life. The decrease in the quality of life is related to the VA, CS, and age. To our knowledge, this is the first study that has considered CS as a parameter related to the anxiety and quality of life of AMD patients.

The aging of the population has meant that chronic and degenerative diseases have increased every year. According to WHO, global life expectancy at birth increased from 66.8 years in 2000 to 73.3 years in 2019 [19]. Although healthy life expectancy has also increased (from 58.3 years to 63.7 years in the same period), due to the aging of population, there are still a lot of people suffering from chronic diseases. There is evidence that young adults with just a single chronic disease have a lower health-related quality of life [20].

Some of the abovementioned chronic diseases are eye diseases, lowering the healthrelated quality of life. In this sense, Mills et al. reviewed the published studies regarding quality of life in glaucoma and other chronic diseases. They concluded that the impact of glaucoma on quality of life was like the impact of other serious chronic diseases; although, they recommended the use of specific tools to measure the quality of life related to vision for eye pathologies [21].

The National Eye Institute Visual Function Questionnaire (NEI VFQ-25) is the shorter version of the 51-item NEI VFQ. Both are vision-targeted questionnaires that assess the influence of visual impairment caused by different pathologies on quality of life [14].

A meta-analysis carried out by Dawson et al. showed that there is great heterogeneity between the different studies published on the prevalence of anxiety and depression in people with AMD, which makes it difficult to give precise estimates [9]. Depression is a multifactorial pathology, so when it appears in AMD patients, we should consider other pathologies that could be affecting the patient, like ischemic coronary disease or diabetes [8].

The scales of STAI and NEI VFQ-25 questionnaires are inverse. In the first one, a lower score means a lower level of anxiety, while in the second, one lower rate means lower quality of life. In our study, there was a moderate negative correlation between trait anxiety and quality of life, but we do not find any relation between quality of life and state anxiety. Similar results were found by Cingu et al. in keratoconus patients treated with cross-linking, comparing the state before the treatment, and the status after a year [22].

According to our results, a better VA was also related to a higher quality of life and lower levels of trait anxiety in AMD patients. Recent studies using the NEI_VFQ-25 questionnaire have found the same results in terms of quality of life. Roque et al. found that the VA affected six NEI-VFQ-25 subscales: dependence, near activities, role difficulties, mental health, color vision, and composite score [23]. Indeed, other studies have proven that improvements in the VA of AMD patients turn into a better quality of life. Oshima et al. confirmed how VA and quality of life of Japanese AMD patients improved significantly after 12 months of ranibizumab treatment [24]. This result contrasts with a multicenter study carried out in 2007 in in France, Germany, and Italy, where VA was found not to be related to anxiety [25]. This difference is probably due to the differences in the questionnaires used in both studies. Therefore, in our study, patients were obliged to complete the STAI questionnaire, which is considered the Gold Standard, with its strength in measuring state and trait anxiety. In the other study, the patients completed the Hospital Anxiety and Depression Scale, which assesses symptoms experienced during the previous week on a 0–3 scale, so it does not consider the trait anxiety. The differences found highlight the importance of evaluating both trait and state anxiety in chronic diseases. Chronic diseases could have an impact on state anxiety at the beginning of the disease, which could have an impact on trait anxiety with time.

Regarding CS, Nixon et al. found that CS improved in AMD patients after 3 months of treatment with aflibercept, which resulted in an improvement in their quality of life [26]. We cannot compare the relation found between CS, quality of life, and anxiety with other studies because there are no publications that consider this relationship in AMD patients. In our study, CS and VA were correlated to anxiety and quality of life. We already knew that VA decreases with aging, and low contrast VA begins to worsen seven years earlier than high contrast VA [27]. In AMD patients this loss is more severe [28].

The Colenbrander test is used to show one or two lines of difference in subjects without pathologies and regular VA. In our clinical experience, in AMD patients these differences could reach even 10 lines. This test is important to anticipate AMD diagnosis. Changes in the AMD patients' retinas begin in the perifoveal region, so the contrast difference in this area can anticipate the detection that usually happens when the central region is affected.

Although we did not find a relationship between the years from the diagnosis and anxiety and quality of life, Inna et al. found that anxiety, measured with the Hospital Anxiety Depression Scales (HADS), was positively correlated with duration of e-AMD and patient age, but negatively with vision levels [29]. Again, the use of a different test could give different results; although, the conclusions of the abovementioned study are the same, concluding that AMD patients had anxiety and lower quality of life scores.

Finally, we have found a relationship among most of the subscales of the NEI VFQ-25 and trait anxiety. Depending on the chronicity of the ocular condition, studied levels of

anxiety could change. Thus, ocular chronic conditions, such as myopia or pseudo myopia, were associated with anxiety [30,31]. While other ocular pathologies, such as uveitis, showed changes in state anxiety [32] instead of in trait anxiety.

The main limitations of our study are that we did compare to a control group, and the sample was enrolled through a convenience sampling.

5. Conclusions

AMD is a chronic and degenerative pathology that severely affects the vision of patients, reducing their quality of life and producing anxiety.

The quality of life of AMD patients depends on the VA and CS.

Author Contributions: Conceptualization, D.C.-F., C.A.-P. and M.Á.S.-T.; formal analysis, C.A.-V.; investigation, D.C.-F., N.B.-D. and E.P.-S.; methodology, C.A.-P., C.A.-V. and M.Á.S.-T.; project administration, M.Á.S.-T.; resources, D.C.-F.; software, C.A.-V.; supervision, C.A.-P., N.B.-D. and E.P.-S.; validation, C.A.-P.; writing—original draft, D.C.-F. and C.A.-P.; writing—review and editing, N.B.-D., E.P.-S., C.A.-V. and M.Á.S.-T. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Institutional Review Board Statement: The study was conducted according to the guidelines of the Declaration of Helsinki and approved by the Ethics Committee of FUNDACIÓ UNIO CATALANA HOSPITALS (protocol code CEI 18/86 and date of approval 27 November 2018).

Informed Consent Statement: Informed consent was obtained from all subjects involved in the study.

Conflicts of Interest: The authors declare no conflict of interest.

References

- 1. National Eye Institute. Age-Related Macular Degeneration. Available online: https://www.nei.nih.gov/eyedata/amd.asp (accessed on 13 December 2021).
- 'Singer, M.A.; Amir, N.; Herro, A.; Porbandarwalla, S.S.; Pollard, J. Improving quality of life in patients with end-stage age-related macular degeneration: Focus on miniature ocular implants. *Clin. Ophthalmol.* 2018, 12, 2483. [CrossRef] [PubMed]
- 3. Danis, R.P.; Lavine, J.A.; Domalpally, A. Geographic atrophy in patients with advanced dry age-related macular degeneration: Current challenges and future prospects. *Clin Ophthalmol.* **2015**, *9*, 2159. [CrossRef] [PubMed]
- Spanish Eyes Epidemiological (SEE) Study Group. Prevalence of age-related macular degeneration in Spain. *Br. J. Ophthalmol.* 2011, 95, 931–936. [CrossRef] [PubMed]
- Wong, W.L.; Su, X.; Li, X.; Cheung, C.M.; Klein, R.; Cheng, C.Y.; Wong, T.Y. Global prevalence of age-related macular degeneration and disease burden projection for 2020 and 2040: A systematic review and meta-analysis. *Lancet Glob. Health* 2014, 2, e106–e116. [CrossRef]
- Fine, S.L.; Berger, J.W.; Maguire, M.G.; Ho, A.C. Age-related macular degeneration. N. Engl. J. Med. 2000, 342, 483–492. [CrossRef] [PubMed]
- Yuzawa, M.; Fujita, K.; Tanaka, E.; Wang, E.C. Assessing quality of life in the treatment of patients with age-related macular degeneration: Clinical research findings and recommendations for clinical practice. *Clin Ophthalmol.* 2013, 7, 1325–1332. [CrossRef] [PubMed]
- 8. Jacob, L.; Spiess, A.; Kostev, K. Prevalence of depression, anxiety, adjustment disorders, and somatoform disorders in patients with age-related macular degeneration in Germany. *Ger. Med. Sci.* 2017, *15*, Doc04. [CrossRef] [PubMed]
- 9. Dawson, S.R.; Mallen, C.D.; Gouldstone, M.B.; Yarham, R.; Mansell, G. The prevalence of anxiety and depression in people with age-related macular degeneration: A systematic review of observational study data. *BMC Ophthalmol.* **2014**, *14*, 78. [CrossRef]
- 10. Clancy, C.M.; Eisenberg, J.M. Outcomes research: Measuring the end results of health care. Science 1998, 282, 245–246. [CrossRef]
- 11. Lin, J.C.; Chie, W.C. Psychometric validation of the Taiwan Chinese version of the 25-Item National Eye Institute Visual Functioning Questionnaire. *J. Eval. Clin. Pract.* **2010**, *16*, 619–626. [CrossRef]
- 12. Massof, R.W.; Rubin, G.S. Visual function assessment questionnaires. Surv. Ophthalmol. 2001, 45, 531–548. [CrossRef]
- 13. Kovac, B.; Vukosavljevic, M.; Kovac, J.D.; Resan, M.; Trajkovic, G.; Jankovic, J.; Smiljanic, M.; Grgurevic, A. Validation and cross-cultural adaptation of the National Eye Institute Visual Function Questionnaire (NEI VFQ-25) in Serbian patients. *Health Qual. Life Outcomes* **2015**, *13*, 1–13. [CrossRef]
- Mangione, C.M.; Lee, P.; Gutierrez, P.R.; Spritzer, K.; Berry, S.; Hays, R.D.; National Eye Institute Visual Function Questionnaire Field Test Investigators. Development of the 25-list-item National Eye Institute Visual Function Questionnaire. *Arch. Ophthalmol.* 2001, 119, 1050–1058. [CrossRef]

- Alvarez-Peregrina, C.; Sánchez-Tena, M.A.; Caballé-Fontanet, D.; Thuissard-Vasallo, I.J.; Gacimartín-García, M.B.; Ordu-na-Magán, C. Crosscultural adaptation and validation into Spanish of the questionnaire National Eye Institute Visual Function Ques-tionnaire 25. Arch. Soc. Española Oftalmol. 2018, 93, 586–591. [CrossRef] [PubMed]
- 16. Spielberger, C.D.; Gorsuch, R.L.; Lushene, P.R.; Vagg, P.R.; Jacobs, A.G. Manual for the State-Trait Anxiety Inventory (Form Y). Consulting Psychologists Press, Inc.: Palo Alto, CA, USA, 1983.
- 17. Spielberger, C.D.; Gorsuch, R.L.; Lushene, R.E.; Buela-Casal, G.; Guillén-Riquelme, A.; Seisdedos Cubero, N. *STAI: Cuestionario de Ansiedad Estado-Rasgo*; TEA Ediciones Madrid: Madrid, Spain, 2011.
- 18. Bailey, I.L.; Lovie-Kitchin, J.E. Visual acuity testing. From the laboratory to the clinic. Vis. Res. 2013, 90, 2–9. [CrossRef] [PubMed]
- 19. World Health Statistics. 2021. Available online: https://www.who.int/data/stories/world-health-statistics-2021-a-visual-summary (accessed on 13 December 2021).
- Ge, L.; Ong, R.; Yap, C.W.; Heng, B.H. Effects of chronic diseases on health-related quality of life and self-rated health among three adult age groups. *Nurs. Health Sci.* 2019, 21, 214–222. [CrossRef] [PubMed]
- Mills, T.; Law, S.K.; Walt, J.; Buchholz, P.; Hansen, J. Quality of life in glaucoma and three other chronic diseases: A systematic literature review. *Drugs Aging* 2009, 26, 933–950. [CrossRef]
- Cingu, A.K.; Bez, Y.; Cinar, Y.; Turkcu, F.M.; Yildirim, A.; Sahin, A.; Tas, C.; Sir, A. Impact of Collagen Cross-linking on Psychological Distress and Vision and Health-Related Quality of Life in Patients with Keratoconus. *Eye Contact Lens.* 2015, 41, 349–353. [CrossRef]
- Roque, A.B.; Da Silva Borges, G.F.; Abe, R.Y.; De Souza, O.F.; Machado, M.C.; Ferreira, T.; José, N.K.; De Vasconcellos, J.P.C. The effects of age-related macular degeneration on quality of life in a Brazilian population. *Int. J. Retina Vitreous* 2021, 7, 20. [CrossRef]
- 24. Oshima, Y.; Ishibashi, Y.; Umeda, N.; Nagata, T.; Yoshida, S.; Uchio, E.; Kondo, H.; Sonoda, K.H.; Ishibashi, T. Correlation between improvement in visual acuity and QOL after Ranibizumab treatment for age-related macular degeneration patients: QUATRO study. *BMC Ophthalmol.* **2021**, *21*, 58. [CrossRef]
- 25. Augustin, A.; Sahel, J.A.; Bandello, F.; Dardennes, R.; Maurel, F.; Negrini, C.; Hieke, K.; Berdeaux, G. Anxiety and depression prevalence rates in age-related macular degeneration. *Investig. Ophthalmol. Vis. Sci.* 2007, *48*, 1498–1503. [CrossRef]
- 26. Nixon, D.R.; Flinn, N.A. Evaluation of contrast sensitivity and other visual function outcomes in neovascular age-related macular degeneration patients after treatment switch to aflibercept from ranibizumab. *Clin. Ophthalmol.* **2017**, *11*, 715–721. [CrossRef]
- 27. Haegerstrom-Portnoy, G.; Schneck, M.E.; Brabyn, J.A. Seeing into old age: Vision function beyond acuity. *Optom Vis Sci.* **1999**, *76*, 141–158. [CrossRef] [PubMed]
- 28. The Royal College of Opthalmologists. *Degeneration Guidelines for Management*; The Royal College of Opthalmologists: London, UK, 2013.
- Inan, S.; Cetinkaya, E.; Duman, R.; Dogan, I.; Inan, U.Ü. Quality of life among patients with age-related severe macular degeneration assessed using the NEI-VFQ, HADS-A, HADS-D and SF-36 tests. A cross-sectional study. *Sao Paulo Med. J.* 2019, 137, 25–32. [CrossRef] [PubMed]
- Zhang, H.; Gao, H.; Zhu, Y.; Zhu, Y.; Dang, W.; Wei, R.; Yan, H. Relationship Between Myopia and Other Risk Factors with Anxiety and Depression Among Chinese University Freshmen During the COVID-19 Pandemic. *Front. Public Health* 2021, 9, 774237. [CrossRef] [PubMed]
- 31. Khalid, K.; Padda, J.; Pokhriyal, S.; Hitawala, G.; Khan, M.S.; Upadhyay, P.; Cooper, A.C.; Jean-Charles, G. Pseudomyopia and Its Association with Anxiety. *Cureus* 2021, *13*, e17411. [CrossRef] [PubMed]
- Onal, S.; Oray, M.; Yasa, C.; Akman, M.; Uludag, G.; Koc Akbay, A.; Tugal-Tutkun, I. Screening for Depression and Anxiety in Patients with Active Uveitis. *Ocul. Immunol. Inflamm.* 2018, 26, 1078–1093. [CrossRef] [PubMed]